RONIX POWER TOOLS

Premium Quality

Number | Name

1 Cross groove Screw M5x40
2 Cross groove Screw M5x45
3 Flat gasket g5

4 Spring gasket 65

5 Hexagon Nut M5

6 Left-outsider Wheel Cover
7 Middle Cover

8 Left hexagon Nut M12

9 Cross Groove Screw M5x15
10 Wheel Flange

11 Scrip shim

12 Grindstone

13 Cross Groove Screw M4x10
14 Cross Groove Screw M5x10
15 Left-inside Wheel Cover

16 Bearing Housing

17 Base

18 Condenser

19 Base plate

20 Rubber Grommet

21 Grindstone

22 Ball Bearing

23 Rotor

24 Stator

25 Casing

26 Switch

27 Right-inside Wheel Cover
28 Hexagon Nut M12

29 Right-Outsider Wheel Cover

3909N

Www.ronixtools.com BenCh Gl‘lnder 150W'125mm



